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1. x3+x2 + 16 is exactly divisible by x, where x is
a positive integer. The number of all such
possible values of x is X
@ 3
b 4
(© 5
d 6

2. The number of (a, b, t;), where a, b, ¢ are
positive integers such that abc =30, is
(a) 30
b) 27

) 9
() 8

8. If the roots of the ) \%uhdratic equation
x? - 4x - log,q N = Q-2¥¢ real, then what is the
minimum value@fN ?

{a) 1
1
b =
(b) 10
1
(0) | m
1
@. 10000
DZOL-T-LKM

IG.

4.

50

7.

(3-A)

@ 0o
b 1
(e 2
@ 3

The number of different solutions of the
equation x + y + z = 12, where each of x, y and

zZ is a positive integer, is

‘(a) 53

(b) 54

| (e 55
@ 56

If 1=a%+b%+c? where a and b are

congecutive integers and ¢ = ab, then I is

(a) an even numberand it isnot a sqﬁare of

an integer

() an odd number and it is not a square of
an integer '

(¢) square of an even integer
{d) 'square of an odd integer

.Ift.he number 23P62971335 is divisible by the

smallest odd composite number, then what is
the value of P ?

(a) 4
) . &
© 6
7

What is the remainder when the sum
15 + 25 + 35 + 45 4+ 5% is divided by 4 ?
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8. What is the digit in the unit place of_399 ?

(a) 1
M 3
&) 7
d 9

9. LCM of two numbers is 28 times their HCF.
The sum of the HCF and the LCM is 1740. If
one of these numbers is 240, then what is the

other number ?

(a) 420

®b) 640
(e} 820
(d) 1040

10. (x™ — a®) iz divitibie by (x —a), where x # a, for

every

(a) natural number n

(b} even natural number n only

{¢) odd natural number n only

(d) prime number n only

11, If 172920 jg divided by 18, then what is the

remainder ?
(a) 1

b 2

() 16

@ 17

12. What is the value of
1 1 1 )

' + + b ...+ ?
1+42 J2+48 J3+44 J99 + J100

a 1
® 5
(c) 9

@ 10

13, If x™ = Yix /x Jx , then what is the value of

‘m?
@ %
® -3
CH _
@ I

DZOL-T-LKM _ (5-A)
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14,

15.

186,

DZOL-T-LKM

~atime out of the numbers +1,+2,+3,+4,%5

one-fourth of the sum, @the number of years

(a)

The sum of all possible products taken two at

is
(a) O

by -30 -

(e) -55

(d) 55

A train of length 110 m is moving at a uniform
speed of 132 km/hr. The time required to cross
a bridge of length 165 m is

(a) 6-5seconds

(b) 7seconds

(c)

7'5 seconds

) 85 seconds

The simple interest on. A)certain sum  is

and the rate . @f annual ihterest are
numerically equal, then the number of

yeargis -
2-5
b 3

c» 35

d 5

17.

180 !

(7-A)

A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each
page, the number of pages would have to be
increased by 10 to give the same writing
space. What is the value of n ?

(a)

18
® 21
(cy 24
@ 30

If ‘ x men working x Ihours per day can do
x units of work in x days, then ¥ men working
¥ hours per day in ¥ days would be able to do
k units of work. What is the value 6f k?

(a) -xzy'a
(b) x3y2
©  y®
@ ¥y
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22.

23.

(8-A)

Teh GHMER AT FgA Bl I I AW
Foar 2 AP T T WL B T w@ R,
St 800 gm F FIT 1000 gm I I ¥ |

._amﬁasmuﬁmamw%?

(a) 20%

by 26%

() 380%

(d 40%
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(c) 40,000 &l

(d) 4,000 HX
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(b
(c)

41:9
31:9
23:9

d 14:9



http://studentsuvidha.com/
http://studentsuvidha.com/

19. Let d(n) denote the number of positive divisors |21. A shopkeeper sells his articles- at their cost

.- of a positive integer n. Which of the-foilovvin_g price but uses a faulty balance “thich reads
o , _ ‘ 1000 gm for 800 gm. What is the actual profit
o percentage ? |
1.  d3) =411 :

(a)  20%

2. d(6).d(11) = d(55)
| by 25%
3. d5) +.d(11) = d(16) | (¢) 30%
Select the correct answer using the code given @ 40%

below :

(a) 1and3only
22. A river 3 m deep and 40 m wide is flowing at
_ . the rate of 2 km/hr and falls into the sea.
(@ 2and3$only _ - What is the amount of water in litres that will

() 1land2only-.

fall into the sea from this river in a minute ?
d) 1,2and3 .

(a)y". 40,00,000 litres

. ' _ ~ (b) . 4,00,000 litres
20. ¥ A, =P, +1, where P, is the product of the - :

first n prime numbers, then oor;sider the - {(¢) 40,000 litres

following statements : d) 4,000 litres
1. - Ay is always a compsite number,

2. i 2 is always an odd ber. : e
' At 2145 _ & ity 28. If a television set is sold at T x, a loss of 28%

3. A, +1isalwaysan even number. : would be incurred. If it is sold at ¥ y, a profit
o . . of 12% would be incurred. What is the ratio of
Which of the above statements is/are correct ? ' . )
. : ? ytox?
@ lealy @ 41:9
() Zonly . ) : . by 31:9
(¢ 3only N ' (¢) 23:9
(d) 2and3only . c _ . - @ 14:9

DZOL-T-LKM | (9-A)
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| 24, U =i a9t Fe H 9= o 15 kmvhr 31 Jfg (26, IR x, y F ST 2, ﬁﬁmﬁﬁaﬁﬁ
m%.ammﬁapmﬁwﬁammﬁ sRaATh ¥y
T A} | WR E AR W w62 ' ‘ :

(a) 45 km/hr 9 %,yaiwg
ke 5 Yy, WP A ¢
©  60kmhr 13 2 T 2 1 T s T g
N 75km!hr.‘ '_ | @) aaalaﬁ_z
) FEw2shg
(c) 933
.(d) 1,293

2. daRs 21l o i ¢ e

T R g F § | Teen e 4 w8 A
A ameht ot P e @ 1 A =R

| 27. 1 H I AW wwn-far F R F o4 a6
TMWFE AW 2 96,800 BN RO o . I '

T g1 | IR A Iak far @ 3 9d o

o femmty O | teomEmAsa R, duid
' " & fom 1 faare % ww oty T ot o :
(‘a). T 32,000
(a) 2599
(b) T 34,500 .
b)) 2494
© z 33,_000‘. ) " @ 23.a~§

d T 36,800 @ 2274

DZOL-T-LKM o (10-A)
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24.

Three persons start a business with
capitals in the ratio % : i —;— The first
person withdraws half'Vhis capital - after
4 months. What ig\hig share of profit if the
business fetché®)an annual profit of ¥ 96,800 ?

(a) T 32,000
k) T 34,500
(¢) T 36,000
(d) ¥ 36,800

DZOL-T-LKM

‘By inéreasing the speed of his car by 15 km/hr,

a person covers a distance of 300 km by taking

an hour less than before, What was the

original speed of the car ?
(a) 45 km!hr
(b 50 kmfhr
©  sokmbe
(d)- 75 ki/hr

26,

27.

(11-A)

If x varies as y, then which of the following
is/are correct ?

1. x2+ylvariesasx?—y?

X - =
2. —5 varies inversely as y
y .

3. 'dey varies as 2Vx4y2

Select the correct answer using the code given

~ below :
(a) l‘a.nd 2 only
(b) 2and 3 only
(¢) 3only
@ '1,2and3

Ena was born 4 years after her parents
marriage. Her mother is 3 years younger than.
her father and 24 years older than Ena, who is

13 years old. At what age did Ena’s father get

married ?

(a) 25years
(b) 24 years
{c) 23 years
(@) ' 22 years '
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28. ﬂ%ﬂ?ﬁaﬂamﬁ?lm,uﬁmﬁsaﬁﬁa 31. E|§‘:I€ix6—3:i:4+3xz—'1aﬂ'l'::31_-3:!;2«1-13:s:-|-"'1
%wﬂﬁﬁﬁwilmﬁwé\aﬁﬁ % HCF F1 § 2 S

'%aﬂtmﬂeaui@‘m%lu%waﬂtmiaﬁm '
' (a) (x+1)

W fore st & 7

) 18T4 b (x+17
® 153§ ' ‘ © =i+l
(© 1374 . - @ x+?

@ 1199

. . B 32. ¥ ;R F HCF 3. LCM o ax+1 |

29. TF et O sgEi i dem N2 ) ved o d 3ﬂ130x3+7x2--10x'-3§|jﬂﬁ‘1$3§qa

L T’ x% g A A ok o ad xa 622+5x+1%,?ﬁ@na§ﬁatfﬁ1%? |
H W oEd R QAN F ool F g § '

3P 6 g w=w oA 2 (a; 15k2+4x+3.
(a) N %H - : (b) . 15x% +4x -3
(b) N%w ‘ (¢ 15x2—4x+3
© Na s Y @ 1xP-ax-3

(d) TWNF A T Fufe wcdo _ _
33. AR (p+2)(2q—1)=2pq—10 3

30. A ab+xy—xb=0 BﬁIbc-w-'yz_-—cy =0 B, @ (p—Z)(zq*1)='2p_q-- 10 &, 9 pq fFES
E+§ foras e § 2 ' - TR E? :
o, .
@ 3 (8 -10
b
hy — :
y ® -5
{c) .1 : (c) 5
(d)- 0 ' d 10

DZOL-T-LKM ' (12-A)
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28.. Mahesh is 60 years old. Ram is 5 years
younger to Mahesh and 4 years elder to Raju.

31.

Babu is a younger brother of Raju and he is
6 years younger. What is the age difference
between Mahesh and Babu ?

(a) 18 years

(b} 15 years

(¢) 13 years

(d) 11 years

29. The number of 1tems in a booklet is N In the
first yeﬁr :_t_here is an increase of x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the

booklet ?
(a) LessthanN
() BqualtoN

{¢) More than N

(d) It depends on thevalue of N

If ab + xy — xb =0 and bc +yz - cy =0, then 33.

whatis =+> equal to ?
a z
(a)

(b)

« o T

© 1

d 0

DZOL-T-LKM

(13-A)

32.

(d)

What is the HOF of the polynomials

x6_3x*+3x?~1 and B +3x%+3x+17

(@ x+1)
®) &+D?
© 2 +1
@ x+1P

The HCF and the LCM of two polynomials are
3x + 1 and 30x3 + 7x% - 10x - 3 respectively. If

one polynomial is 6x% + 5x + 1, then what is

the other polynomial ?
(a) " 15x? + 4x + 3
(b) 15x2+4x-3

(c) . 16x% - 4x + 3

d 15x%*-4x-3

If (p+2)(2q-1=2pg-10 and
(p — 2) (2q - 1) = 2pq — 10, then what is

Pq equai to ?
(a) -10
(b) -5
© 5

10
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a2+ac  a?-_? 2 3 38. X YOIR ZUh @ TUW ¥ UHEHE I HHY:

M S—3-3 28 +0® af_o2 ‘ave
a¢—-¢ ac+ cT+cC a“ —c¢ 41 1 5] 1 ﬁ?ﬁ] 1 ﬁmwgl
AR R o Y, X2 W TN @ B | 29 Y e
@ 0 _ YaY I99 AR HET =10 qife F 99 X 9
®» 1 - TF A1 A et 7
(c) ac _ B
& E L o (@ 251%.
6 4
D e - (b) 5'5‘%
4 3 : : g'ai'é
85. 4x*+8x’-4x+ 1WA TN E 2 @ 3
(a) 2x%-2x-1 .
_ o @ L
(b) 2x2-x-1 8

(c) 2x2+2x'+1 : ) :
: 39. n T GAYN WEAT §, A 1 - x — x° + 1 feud

(d). 2x2 + 2x — 1 ) _ R ¥

36. Uk Q 31wl I wEm & W w1 e 13 2 @ (1+x?
3R T F I W o 3 ¥ o wew i

A 27 W AR ¥ | WA B AN R W b)  (1-x?

| TR (@ 1-2x-x?

w3 d) 1+2x-x2

h) 40

(c) 456

@ 54 0. THRcxi @i g ag® 75

S W O9r } B & @ ® x% @ g |
. AR I _Y [ 2y qfefrgmia| XS R Ey

b+¢ c¢+a b-a _
IR TH AR () 20%
(a) x+y+z=0
(b) x-—y=-z=0
(&) x+y—-z=0 : ¢y B50%
d) =x+2y+3z=0

by 25%

d) 100%

DZOL-T-LKM : { 14-A)
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34. What is the value of
-a2+ac_ a2—c2'._ 2c +3 °
a2e-c® aZc+2ac? +¢3 a?-¢? axrc '
(a) O
dhy 1
(© ac
- aZ +¢?
@ -8
a+c
35. What is the square root of 4x* + 8x° —4x + 17?
(a) 2x2-2x-1
b) 2x2-x-1
{c) 2)&2 + 2x + 1
d) 2x%+2x-1
36. The sum of the digits of a two digit number is
13 and the difference between the number and
that formed by reversing the digits is 27. What
is the product of the digits of the number ?
(a) 85 '
(by 40
(¢) 45
) 54
87. If = =3 <%  then which one of the
b+¢ e¢+a b-a -
following is correct ?
{a) x+y+zs=0
h) =x-y-z=0
¢ x+y-z=0.
@ x+2y+32=0
' DZOL-T-LKM (15

38. X Y and Z travel from the same place with
uniformspeeds4kmfhr, 5 km/hr and 6 km/hr
respectively. Y starts 2 hours after X. How
long after Y must Z start in order that they
overtake X at the same instant ?

(a) % hours
b) 4 hours
3
(c) % hours
d) l—;- hours

39. 1-x xR x™1 wherenisa ﬁatura] number,
is di_visible by |
(@) (1+xP
® Q-x?
© 1-2x-x°
@ 1+2x-x2
| 40. A person. sold an article for ¥ 76 which cost

him ¥ x. He finds that he realised x% profit on
his outlay. What is x equal to ?

(a) 20%
b 25%
(@ 50%
(d) 100% |

-A) -
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41.

42,

DZOL-T-LKM

| o w5 | R s s

&) 6UFT

kamph:ﬂﬁiﬁﬁ?ﬁ,ﬁﬁﬂﬁ?yﬁ%mﬁ‘iﬂ
& St | IEn feah wwht off 2

(a) x(t-yty

by x-yty?

(€ xGt-y) ty2

) x t+ y) ty

W O g B R R e R, @ R g
T P A R aen e 3w g & e
¥ g e @ ol T 7840 m FRY
4 9F8 TH € | W 12250 m FRY § fra
THE TR 7

5 UFUE
5-5 UEg

(a)

b

d) 65T

qﬁ 6374x 4x+5 =8 @)‘.‘ ™ ‘g 10310 2=0301

I logyg 3 = 0-477), 1 Treaferfiam & & <=

R o
a) O<x<l1
by 1<x<2
© 2<x<3

(d)

3<x<4d

o, @mﬁaﬁﬁmﬁqﬁmﬁaﬁﬁm

47‘

(16-A)

% R s i St & 2

(a) Qﬂi?ﬂaimwf{a
(b) U OIS T S
(¢) UF Qs =1 T

@ 2 quisl F HCF

e @& i F Biem o A, d@ Feffea o
o A aft ¥ o

1 T 7R dee T R )

2. TUF A™EA INT R |
ﬁmw@wmmwwgﬁt{

“(a) FEA 1

(b),__aﬁaz :
(© 1'_31’112&'-ﬁ
(d) =r_a‘r1af|t=r€lz

'ﬂﬁcosece gin 0 = maﬂlsecﬁ'—co30=n'§,
. 4 2 2 4

W m3n3 +m3n3 ﬁﬂﬁiw%?

(a 0

(b) 1

(e)

d

mn

m2n2 .

I cos 0 + sec 0 =k &, A sin2 0 — tan2 0 W
U R

(a) 4-k
(b) 4-k2
© k?2-4
(d) k%?+2
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41. A car did a journey in t hours. Had the|44. The Euclidean algorithm is used to calculate

average speed been x kmph greater, the _the _
journey would have taken y hours less. How| (a)  square root of an integer
long was the journey ? . ' {b)  cube root of an integer

(a) x@t-yty (¢}  square of an integer

, (d) HCF of two integers
b x@t-yty?! '

. 9 48, If radius of a sphere is rational, then which of
© x@Et-y)ty"

the following is/are correct ?

(d x@E+yty . 1. - Its surface area is rational.
2. Its volume is rational.

42, When a ball is allowed to fall, the time it takes| Select the correct guswer using the code given
. oW :
to fall any distance varies as the square root of _
. . - ' (a) 1lonly

the distance and it takes 4 seconds to _

fall 78-40 m. How long would it take to fall (b) 2 only,

122-50 m ? . : (c) Both'l and 2

(d). Neither 1 nor 2
(a) 5 seconds \

(b) 565 seconds 48. If cosec 0 —sin 6 = m and sec § — cos § = n,
: ' 4 2 2 4
© 6 seconds then what is m3n3 +m3n3 equal to?
' - (a) 0
(d) 65 seconds
by 1
: ' (¢} mn
- 43, If 63— 425 (3 (Given log1p2 =.0-301 and : _
. ) A
logyo3 = 0:477), then which one of the @ mn
following i b7 | -
ke @ ) 47. If cos 0 + sec B = k, then what is the value of
(a) 0€X<‘1 g _ ' : sin29—tan20?-
: (a) 4-k
by l<x<2 .
_ ) 4-k2
(¢) 2<x<3 © K_4a
{d) 3<x<4d4 _ ' (d) K2 +2

DZOL-T-LKM - ' {(17-A)
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48, mw%waﬁqﬁﬁ@mﬁgﬁmcsl.a’raﬁvﬁ_meéat15°%aﬂtai\vﬁmﬁlm
1 cos(A+B)+sm(A+B)ﬁﬂ=l%W§‘? e # 8 2 | wm1 F0T SR P H KL |
. 12

(@ 0 k forass st # 2
®) i @ %
© 3 w 2
@ 1 e g
49, Frfafea A w foem $ifin @ 2
L ¥ T s oW & R °
sino=x+ 2 HEE | |52, frfefem weRt w R B
2. x¥% F IrAeE UH & foe | 1. . 0% wift uri & forg wfiemcor

: 28in20<cos6+4=0ETT R |
oosegx+lW%.I st cogyT -+ %
x

2. tan®s+cot 6, 28 HN T B wHa1 B, &l

I # & FREA T ey
(a) $ad 1 -2
b 2 I A A FRAA v w2
© 13 23 (a)'zzl
@ JH1mad2 ® 2
, © 13K 23M
a1 AEH2

50, W SIS % SWAH wfonw AR B ) @

L& 53. qmqamqmammﬁaaﬂiﬁéluﬁ
' 44 m FI g T T H TR h e 420 s

(a) z
5 3, H‘fﬁmﬂﬁwuﬁﬂﬁmﬂﬁv
(b) 2?“ (T-l'ﬁ?ﬁﬁl'l{ 11:——-—-)
311: (a) GOm
() —
5 (b} 66m
(¢¢ T5m
@ i -
- 5. _(d) S80m

DZOL-T-LKM {18-A)
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48. ABCis a triangle inscribed in a semicircle of
> -.diameter AB. What is cos (A + B) +sin (A + B)

equal to ?
(ay O
1
(b) 1
’ 1
(C) E
(d) _ 1

49. Consider the following statements :
1. sin8=x+ —1- is possii)le for some real
. X
value of x. '
2. cos@=x+ % is possible for some real
' value of x.
Which of the above statements is/are.correct ?
(a) 1only
(b) 2 only
(¢} Bothland?2
{d) Neither 1 nor 2
50, . Wl_'nat is the magnitude (in radian) of -the
. interior angle of a regular pentagon ?
y =
{(a 3
2n
(b —
) 5
3
(©) 5
4n
d =
(d) 5

DZOL-T-LKM

51.

52.

(19-A)

)

@

The difference between two angles is 15° and
the sum of the angles in radian is E The
bigger angle is k times the smaller angle.
What is k equal $o ? '

4
(a) E
3
(b) 3
6
{c) -g
7
6

Consider the following statements :

1. The equation 2 sin® @ — cos 6 + 4 = 0 is

possible for all 6.
2. . tan B + cot 8 cannot be less than 2, where
0< B < % .
Which of the above statements is/are correct ?
(a) 1lonly .
(b) 2only
(¢) Bothland?2

Neither 1 nor 2 -

A road curve is to be laid out on a circle. What
radius should be used if the track is to change
direction by 42° in distance of 44 m ?

{Assume n = % }

(a) 60m

(b) 66m ‘
¢y 75m

@ 80m
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B4, 3gin0—4 N Py g FO R 7

(a) -4
(b -1
) .0
@ 1

55. Ffe sinO+cos6=+2 &, @

8in® 8 + cos® 0 + 6 zin? 6 cos? o ThES T R 7

1
(a) Z

2 .
(=) 1
© 1
’ 7
(d) 1

56. 9sin?0 + 16 cos? 6 T =HaH UH FT 8 2
(a) 0
(b) 9
(c) 16
@ 25

57. A2 cos 47° 4.5in 472 k B, Al
cos?® 47° — sin? 47° 1 AW 4T & 2

(a) km
() -ky2-k?
(c) kﬁ
(d) —kyl1-k?
DZOL-T-LKM

58.

59.

(20-A)

. (@)

AR} cosec 6 — sin 0 = p® M sec 6 -cos 6= ¢°
2, Mtan 0 F 9 FT R ?

@ R
. q
b 2
P

© pq

) p2q2

Elﬁ 0<0,P<90° T TPR E & cos (a-P =1

%, | sin.oc—sinﬂ+cosoc_—cos[3 frus
TR B ?

-1
by 0O
e 1

(d). 2

ﬁﬁﬁlﬁawﬁmﬁaﬂiﬁﬁm:

1 coseif-';sinzsf;aﬂmlﬁmﬁméﬁfﬁ
Hehell B | A

2. . tan23° —cot T°HI A O A FA R |

I # ¥ FA/A Y ud B2 |

(8) Had 1

W e

© 1’3ﬁt'2€1=1“f

@ TA1IRITIH2
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84. What is the maximum value of 3sin0-4 ? |58, .Ifcosec9—sme=paandsec9—oosﬁ=q3,

then what is the value of tan 6 ?
(a) -4 _ ' T
® -1 @ B
: q
). 0
| m 1
© rq
65. If sin 8 + cos 6 = ¥2, then what is @ p2e?

sin® 8 + cos® 0 + 6 sin® 6 cos® @ equal to ?

) 1
_ 59. If0<a, p <90° such that cos (o = f) = 1, then
fh) -3 what is sin o —sin 8 + co8 ¢ —cos § equal to ?
4 :
© 1 Fa) -1
o M o
@ <
4
(e} "1
o | >
56. Whatis It_he least value of 9 sin? 0 + 16 cos® 8 ? ¢
{a) O
' () 9 . )
680. Consider the following statements :
() 16 | _
: 1. The value of cos 61° + sin 29° cannot
d) 25 ' .

exceed 1.

2. The value of tan 23° — cot 67° is less '

87. If cos 47° + sin 47° = k, then what is the value
cos in k, then w is the valu 0.

" of cosZ 47° —sin?47° 2

@) ky2_k?

Which of the above statements ig/are correct ?

(a) 1 only.

b -ky2-k2
. (b) Zonly
. | | _
. © k \I_ 1-k _ _ : (¢) Bothland?2
@ -kyl-k2 ' (@ Neither 1 nor 2

DZOL-T-LKM o (21-A)
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61. T SgY ABCD#, £ B = 90° 3t |64. ABC wH Wﬁﬂﬁ 2 | ¥ BC, D W ¥,
AB2+BC2+CD2-_AD2=O%,FP,ZACD mmﬁ\?ﬁ%ﬁ?BC;SBDI AD2
s Trm 2 2 1 AB? @ g F R 7
@ 30 (a) 7:9

. () 1:3
- i
(b) 60 © 5:7
¢ 90° @ 1:2
@ 120°
feafafaa st w foem Hifng
| _ 1. oeE % Rt whgm o wgwies

62, TH AABCH,AC=12cm, AB =16 cm 3R 2 A ﬁqﬁaaﬂag. = -

1 fue% AD 2 | IR BD = 4 em &, @ DC ' _ |
o 2. Wﬁmgmﬁ%m@ﬁnﬁ
et s aﬁéﬁ%mmmgmaﬁaﬁwlﬁm
(a)' "2 em o et R 1
b) 3em 3‘@55 ﬁ i’? H?H-Hvﬁ Y Hﬁ %/% ?._
(c). 4o (a) FHadA 1
(b) %A 2
@ 5 '
| o @ 13023
(d Ta13mTA2

63.’ ABCD@EEEN?@‘QGI [ %% A B C 3R D _ T
%ﬁqu\‘—raﬁawrPQ,Raﬂtsmm& IR v 1 B S, Tk gdE dwe iR
£ 4PQR+4RSPﬁ-TEﬁ;w%‘? ARG M H, C 3R V &, T 3aVH® + 9V2

E Trereh ST ? 7
@ 90°
 O2p2
(b) 135° ® oH
® 202H2
(© 180° :
(¢) 5C2H?
@ 270°
d) 7C2H2
DZOL-T-LKM (22-A)
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61. In'a quadrilateral ABCD, LB = 90° and|64. ABC is an equilateral triangle. The side BC is

AB? + BC2 + CD? — AD? = 0, then what is trisected at D such that BC = 3 BD. What is
£ ACD equal to ? ' * the ratio of AD? to AB*?
(@) 30° - ' | (a) 7:9
' ®d 1:3
-~ (b) 60°

: o {e) b5:7
© 90° - @ 1:2
(d 120°

65. Consider the following statemenis :

62. InaAABC,AC =12 cm, AB = 16 cm and AD 1. The diagonals of a trapezium divide each
is the bisector of £ A. If BD = 4 cm, then what ~ other proportionally. '
is DC equal to ? ' |

e 2.  Any line drawn parallel to the parallel
(a) 2cm _ B sides of a trapezium divides the

non-parallel sides proportionally.
(b) 3cm .
Which of the above statements is/are correct ?
(c) 4em
_(a) lonly
@  fom ® Zonly
_ (¢) Bothland2
63. ABCD is a cyclic quadrilateral. The bisectors (d) Neither 1 nor 2

of the angles A, B,"C and D cut the circle

at P, @ R éud S res‘ﬁectively. What is : ' ' -
66. If H, C and V are respectively the height,

ZPQR + £ RSP equal to.? - _
' curved surface area and volume of a cone, then
(a) 90° " whatis 3nVH® + 9V equal to ?
(b) 185° (@) C’H2
2

© 180° ) 2C%*H?

() 5C2H2
d 270°

@ 7C*H?

DZOL-T-LKM (23-A)
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87.

69,

70.

DZOL-T-LKM

(d)

512
1024
(¢} 256000

(d) 512000

@ﬁgmaﬁtagmiaxoﬂnaﬂuum% ) ufe
?g?raﬁqftmqgocm%,a’l-smm STBA T
?

(@ 90 cm?
(b)
(¢) 150 cm?
(d)

135 em?

180 cm?

@ q ¥ it ¥ 2 5 1 si 2 i

mqﬁwmﬁmvﬁ%?ﬁmﬁsméaﬁm
2 | THES W e = R 2

(a) 483 gard
(b) 361 T
© 247 3T
12 i Td

Th TR RS w1 Swe o 2, IR
ﬁﬁ?5m%aﬁt$ﬁmd’fm
4cm®y ?

sﬁéaa
(a) _ 20 em?
{(b) 18 cm?
(© 16cm?

(d 10 cm?

72,

730

74,

(24-A)

) 5:6:7

d 6:7:8

wh A ) dard 10%%11331‘1131@'{#
10% 6 Hft i S B ) A T TEE F S
o &= B 2

(@ A glg st @ it

) 1%% glg
(¢) 1% W &l

@ 10% 7

A W % g AT B I 14 R )
mmﬁma@mw%?

(a) 1:16

(b) i:12

© 1:10

d 1:8

O $2 i T, e ot S s 20 cm,
15cm 3 10cm # | 45miﬁéﬂ1’§,0-15m3ﬁ

Sitgr ok 3 m <t Fé Aeht draw B T §
fraht § B srawEm R 2

(a) 12450

(b) 11250

() 6750

(@ :ﬂﬁ#ﬁaaﬁéqﬁ
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67. How many solid lead balls each of diameter

(a 512
(b) 1024

(¢} 256000

d> 512000

88. The two sides of a triangle are 40 cm and
4l cm. If the perimeter of the triangle is
90 em, what is its area ?

(a) 90cm?

(b) 136 cm?
(¢) 150 cm?
(@ 180 cm?

69. The diagonals of a rhombus differ by 2 units
-and its perimeter exceeds the sum of the
diagonals by 6 units. What is the area of the
rhombus ?

(a) 48 square units
fb) 36 square units
(e} 24 square units
(d) 12 square unitst

70. What is the area of a right-angled triangle, if
the radius of the circumcircle is 5c¢m and
altitude drawn to the hypotenuse is 4 cm ?

(@) 20 cm?
®) 18 cm?
(¢¢ 16 cm?
(@ 10 cm?
DZOL-T-LKM

2 mm can be made from a solid lead ball of
radins S cm ?

71. In a triangle, values of all the angles are

72,

78.

74-.

(25-A)

- (a)

integers (in degree measure). Which one of the
following cannot be the proportion of their
measures ?

1:2:3
(b) 3:4:5
(c)

(d)

5:6:7
6:7:8

The length of a rectangle is increased By 10%
and breadth is decreased by 10%. Then the
area of the new rectangle is

(a) neither increased nor decreased
(b) increased by 1%

{c) decreased by 1% _

(d) _ decreased by 10% |

The surface areas of two spheres are in the
ratio 1: 4. What is the ratio of their volumes ?

(a) 1:16
(k) 1:12
© 1:10
(d 1:8

The length, breadth and height of a brick are
20cm, 15cm and 10cm .respectively. The
number of bricks required to construct a wall
with dimensions 45 m length, 0-15 m breadth
and 3 m height is

(a) 12450

() 11250

(¢) 6750

(d) None of the above
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75. Af2 wh EW wEYS & @it i w1 qvrHd, | 78. ww fiyw ABCH, AR 22,A=3,B=62C%
gk weft afepon ¥ e TP R, AT AN LA+ 2CTru® T R 2

wgm TR - (@ 90°

(a) WHS | | ®b) 120°

(by IRHA (¢) 135° .
© Tau | @ 150°
@ T

- - 79. _ﬁ@qaaﬂtqmaﬁﬁw&mw%,a‘t
76, T WEf & R 11k 0§ soo0 wER|  IW e WA F dAa § g w0

a1 R B g2 LA
o dif n=22)

_ T @ 1:=n
(a) 17-5cm by 2:m
(b) 35cm ey 8:m

| (¢ 70cm od) 4:mo
{d) 140 cm

o | - |se. oF e B el it demat e
77. a‘;@aﬂ%mﬁwwlméaﬂwﬁ_ w0 Qs (om 3 ¥ | F YR T IEES A
S W SEUE 4 0 5 R IR S w 22 |

AT TR ?
_ (a) 60
(a) 25:64
. (b} 120
(b) 16:25
| (c) 9:16 © 360
(@ 65:9 . (dy 480

DZOL-T-LKM {26-A)
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5. If the‘ sum of all interior angles of a regular

76.

.

DZOL-T-LKM

polygon is twice the sum of all its exterior
angles, then the polygon is

(a) Hexagon
(b) Octagon
(c) Nonagoﬁ
{d) ﬁec_zagon

A bicycle wheel makes 5000 revolutions in
moving 11 km. What is the. radius of the

wheel ? (Assume T = -2:?—2 }

(a_) 17-5 cm
(b) 35cm
(cj 70 cm

(d) 140em

The volumes of two cones are in the ratio 1 : 4

.and their diameters are in the ratio 4 : 5.

What is the ratio of their heights ?
(@) 26:64

(by 16:25

e 9: 16

(d) 5:9

78. In a triangle ABC,if2 LA =3 £B = 6 £C,
. then whatis LA + £ Cequalto?

(a}) 90°

(b 120°
(© 135°
d)y 150°

79. If the perimeter of a circle and a square are
equal, then what is the ratio of the area of the
circle to that of the square ?

(a) l:m
by 2:m
ey 3:m.
d 4:=

80. The lengths of the sides of a ﬁght-angled
triangle are consecutive even integers (in cm).

" What is the product of these integers ?

(a) 60

(b) 120
() 360
(d) 480

(27-A)
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. 810

82,

DZOL-T-LKM

T P ABC # OF oiaga § | 7% il AR
- AMACTH FHM: M RN W e w § ) R
TAFF% 0B 3l 24 =70°8, d « MON

e ST R 2

(a) 90°
() 100°

) 110°

d) 120°

v FR B gt ¥ @il @ dee

8450 T sFE R ITmHh i A Tmd v 8 2
50 T18
55 THI%
(©) 60T
65 378

(a)

(b)

(d)

T R % ¥ | IR e awiw
g 1 I FOK T R, @ ks am W
22

(a) 4

. d 2
v 1

1

(d) 3

84.

85.

(28-A)

d)

3 T % AR P FIIE m?
giondl 1 SR w2 2

:_n‘*% I?FIﬁ_

(a)
(b)

m:n
n:m

{¢) m:n2

(d m?:n

By ABC & Tiferer AD 2 | U AD‘R"EIﬁ'Q
farg P2, @ Frforfias 3 @ o o wd 2

@ BYS PAB W fuwd, ﬁgamca:
EEa § U R |

® BT PAB. # 2 %@, BN PAC ¥
HIHA P e 2

(¢) By PAB #1 &%, ﬁ'gaPAcék
&Gl 1 Teh-<ftard 3

By PAB #1 dmwd, fiy@ PAC &
CERTSIC I S

s r % 0% 90 F F% W o F0 W a@
mwéﬂww%‘?

(@) 1r29

12 (o 25in® eos?
(bh) 2r2(9 25;1:12 cos-z-J

1 o o)
(o) 2r2 [9—31115 c_osE)

2 2gind cos 8

d
@ 2 2 2
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81, A circle is inscribed in a triangle ABC. It

touches_the sides AB and AC at M and N|
respectively. If O is the centre of the circle and |

ZA= 70°, then what is £ MON equal to ?

(a) 90°
& 100°
(e)  110°
(d) 120° |

82. The sum of the squares of sides of a
right-angled triangle is 8,450 square units.

What is the length of its hypotenuse ?

(a) 50 units
b 55 units
(¢) 60 units
(@ 65 units

83. A triangle and a parallelogram have equal
areas and equal(Bases. If the altitude of the
triangle is' k times the altitude of the
parallelogram, then what is the value of k ?

84. Areas of two squares are in the ratio m? : n%.
'What is the ratio of their perimeters ? |
@ |
(b}

m.n
n:m
(¢) m:n2

(d m?:n

85. AD is the median of the triangle ABC. If P is
any point on AD, then which one of the
following is correct ?

(a) Areaof tr\‘iangle PAB is greater than the
area of triangle PAC
(b) Area of triangle PAB is equal to area of
. triangle PAC '
(¢} Area of triangle PAB is one-fourth of the
area of triangle PAC
(d) Area of triangle PAB is half of the area
of triangle PAC
- What is the area of a segment of a circle of

radius r subtending an angle & at the centre ?

(a) | %rze

(b) %rz (9-—- 2 sin-g— cosg)
(c) %rz [Q—sin% co.sg]
(d) %1._2 sing- cos %

@ 4
b 2
@ 1
1
) E
DZOL-T-LKM ' (29-A)
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87. W fiyw ABC ¥ Fwll ¢ W wHE ¥ | WH (89, T WeAH F W Fha wewt A o x o
. e acwadfrgP o Bow A ¥ ) AR A H I ox , @ A R
g Q # | e el & @ A wd g

¥ | = mnaﬁﬁqh%)
1. AQZ?+BP?=AB?+PQ?

@+ +FQ (a) 11x°
2. AB=2PQ

(b)) 22x®

Hrer few Ty g2 = W@ F wE s ghY

N 4453
(a) HFA 1 ©
(b.) ¥ 2 ' @ 5553
© 13fmeamt

(@ q?hlé.ﬂwé’rz ' '
90. #ﬁ_@mzﬁréﬁé, <ieE, S9E, g

‘ﬁﬂmaﬁtmmzp,.q,r,saﬂ'{ti,ﬁ_

_ : 1 1 1
i34l feus ?
88. IR W Breem It oelw i w Wl mom P a T . W%?
TR T I § B 57 g A oft wed .
T i Q1 T s SOy w2 AR @ <
aﬁm_ﬁrﬁ%ﬁmami%aﬂm4zm2%,?h L
o s H Bravs g2 2t
22 | | b =
mﬂﬁﬁ'ﬁ'ﬂ;n=7) ’ 5
-(a) 5em © %
(b) Tem
© 10em _ @ .?ti
(d) 1l4em

DZOL-T-LKM o ' (30-A)
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87. ABCis a triangle right-angled at C. Let P be

any point on AC and Q be: any point on BC.

89.

Wj:ich of the fol]owihg' statements  is/are

;iorrec_t ? ' . '
1. AQ?+BP?=AB?+PQ?
2. AB=2PQ

' Belect the correct answer using the code given
helow :

{a) - 1 only
h 2 (;n]y
(cy Bothland2

(d) - Neither 1 nor 2

Four circular coins of equal ;q.diug are placed
with their centres coincidingswith four vertices
of a square. Each coin i;ouc"o.es two other coins.
H the uncovered area\pi the square is 42 cm?,
théen what is the  radius of éach coin ?|-
. (Azsume T = 2—72)

5 cm

(4) ‘
b Tem
(3 .10 cm

d l4em

(31-A)

DZOL-T-LKM \

(d)

The radii of the flat circular faces of a bucket
are x and 2x. If the height of the bucket is 3x,

“what is the capacity of fhe bucket ?

(Asgume T = %)

(a) 11x°
(b 228
) 44x°
(d 55x°

If p, q, -r, g and t represen‘t length, breadth,
height, surface area and volume of a cuboid

respectively, then what iz % + % + % equal

to?
.s_
’(a). ;
B
(c) a
E.
ot
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91. Ugg Inmefl wh vdiam § dea # | W i 3

gitan 3fivl 6 39 3 9,6,7,8,8,9, 6, 5, 4
3ﬂt7§|mﬁtigsamﬁﬁ%miaﬁﬁtrm
Y2 '

(a) 6

®b) 65
© 7

75

. AR 7y, f ¥ Tw R 1t T
&, &1 st Y degram (gm 1) 180, 191, 175, 111,
154, 141 iR 176.‘5I-T§ T, ai dgEm i e
wR? |

(a) 1llgm

(b) 154gm

(¢ 175gm

(d 176gm

i e S Pt T A PR o
am, el PR & 99 IR T S F ofew
© AR W e % o wges & 9o 2

(2) U H1EA

(b) TUIR WA

e

(e)

@ TS
DZOL-T-LKM

94‘

95.

(32—A).

)

& T AU #1 TR e 2, @ ea-fm
T e o S o g R 2
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Fifteen - candidates

examination. The marks of the candidates who

‘appeared in an

passed in the examination are 9, 6, 7, 8, 8,9,
6, 5, 4 and 7. What is the median of marks of
all the fifteen candidates ? '

(a) 6

(b) 65
ey 7
d 75

If the yield (in gm) of barley from 7 plots_ of

size one square yard each, were found to be

180, 191, 175, 111, 154, 141 and 176, then

what is the median yield ?

(a) 1llgm

(b) 154gm
(¢¢ 175gm

d 176gm

‘Which one of thé followiné measures of central
tendency will be used to determine the

average size of the shoe sold in the shop ?
(a) Arithmetic mean
Geometric mean
{¢) Median

{d) Mode

95.

(33-A)

d)

When the class intervals have equal width,
the height of a rectangle in a histogram

represents

(a) Width of the class

(b} Lower class limit

(c}’ Upper class limit
Frequency of the class

The ages of 7 family members are 2, 5, 12, 18,
38, 40 and 60 years respeét:ively. After 5 years
a new member aged X years is added. If the
mean age of the family now goes up by
1-5 years, then what is the value of x ? '

(a) . 1
(b 2
(¢ 3
d) 4

The mean weight of 100 sfudents in a class is
46 kg. The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys

exceeds the number of girls by
(a) 10
(b) _ 15
© 20
(d) ._ 25



http://studentsuvidha.com/
http://studentsuvidha.com/

97. WHi 25, 65, 73, 75, 83, 76, 17, 15, 7, 14 ¥ UH |99, 2,4, 6, ..., 100 & uifckwm #n 2 7
r=E % e 8 fag g fement W dfisia

ARTHS TN R 2 (@), 48
@ -1 | C»
b 0 (c) .50
© 1 @ 51
@ 2

100, 3} FES ¥ wOE Wea i I W

98. iE &UT x,x+2,x+4,x+6,x+8H A& m .
FHE: 10 3R 12 § | ST THIG WEq TR ?

2 1| wem T Aewort 0 Hrew @ R 2

(a) m : : (aj ?5'5"
(b) m-1 _ | ® 120
(c)_ m-—2 | ) 11 ‘
@ m-3 | @ 144
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What is the algebraic sum of the deviations

o1i.
from the mean of a set of values 25, 65, 73, 75,
83,76,17,15,7,14? '
(a -1
® 0
¢ 1.
d 2
98. The mean of five observations x, x + 2, x + 4,
"X+6,x+8ism, Whatisthemeanoftheﬁrst
three observations ?
(a) | m
b m-1
©® m-2
@ m-3
DZOL-T-LKM

99.

100.

(35-A)

What is the median of 2, 4, 6, ..., 100 ?

(a) 48
b) 49
¢y 50
@ 51

The harmonic mean and the geometric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

(@) %
() 120
¢ 1
d) -~ 14-4
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DO NOT OPEN THIS TEST BOOKLET ML YOU ARE TOLD TO DO SO
T.B.C. : DZOL-T-LKM o | Test Booklet Series

 TEST BOOKLET
ELEMENTARY MATHEMATICS

m
Time Allowed : Two Hours C Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 8O, GET IT REPLACED BY A COMPLETE TEST BOOKLET. ' o '

2.  Please note that it is the candidate’s responsibilify to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and 'withou'} any omission or discrepancy at the appropriate
Places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

3.  You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet. :

This Test Booklet, contains 100 items (gquestions), Each item is printed both in Hindi and English.-

Each item comprises four responses (answers). You will select the response which you want to mark

on the Answer Sheet. In case you feel that- there is more than one correct response, mark the

_ responge which you consider the best. In any case, choose ONLY ONE response for each item,

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet. S

-6, All items carry equal marks, ‘ : . :

7.  Before you proceed to mark in {}ie)Answer Sheet the response to various items in the Test Booklet,
you have to fill in some partjiculars in the Answer Sheet as per instructions sent to you with your
Admisgion Certificate. 2 ' :

8.  After you have completed filling in all your responges on the Answer Sheet and the examinatjon has

' concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet. : .

9.  Sheets for rough wark are appended in the Test Bopklet at the end.

10. Penalty for wrong answers : ' .

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. : '
(i) There are four alternatives for the answer to every question. For each question for which a wro

angwer
hasali:yen given by the candidate, one-third of the marks assigned to that question will be deducted as
-penalty. .

(i)  Ifa candidate gives more than one answer, it will be treated as a wrong answer sven if one of the given
answers happens to be correct and there will he sgme penalty as ahove to that question.

(i) Ifa giuei;tion is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT QPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

[
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